4/H-16 (iv) (Syllabus-2017)

2019
( April )

ECONOMICS

( Honours’)
( Mathematics for Economist )

Marks : 75
Time : 3 hours

The ‘ '
figures in' the margin indicate full marks
Jor the questions

An . Ry .
swer five questions, selecting one

from each Unit

unir—I

Q .y
@ State and prove distributive law of set
operations using the folloWing sets @
A={4 56
B={3 4, 6, 7}

C’—' {2, 3: 6}

1.

( Turn Over )

)
9 /1665




2
’ (3)

() Out of 400 boys of
cricket, 120 pig a school, 112 played UNIT—II
Played footbal] 0? ed hockey and 168 3. (a) -
football and hocy these, 32 played bot?
:nd football ang ;g; 40 played cricket A= 4 1 O B 2 0 -1 -~ !
ockey; 12 bg played cricket and 1 2 2f =13 1 4] =| 2
How many bo YS Played all the games -1
How many plzs did not play any game? find a matrx X such that
— ved only one game? +3°6 (3B -24)C+2X =0. 5
at is g '
Subsets of tiower set? Enumerate th¢ (b) What is an idempotent matrix? Show
eset A=(1, 3 5) 2,,254 that matrix A is jdempotent
2. (a) ) 2 -2 -4
P .
lot the followig, p A=|-1 3 4 2+8=10
0 y=345, & functions : o2 ;] -2 -3
(i) y=x2
< 4q
o X +3x-4 , * (@) Given
) E :
Xplaj 10
1°gaha"1tg e concepts A= [:15 ﬂ Fe [2 1]
Mic function of fxponential and 5
(e) When S with examples- Prove that the transpose of the product
was @ € Price of 4 of A and B is equal t0 the product of
in th Per unit, 19 certain commodity transposes Of B and £ 6
the © Market, ‘:Vh ul'lits were supplied .
saiq Supplier sup ?n it went up to 4, (b) Find the solutiont of the i fo.llowmg
fun market. o]:,tl;lil ed 40 ynits to th® equation systems using matrix inverse .
fut::;on' Also Pred?qthe linear supPY method :
D Price of g ¢ e supply o7 © csoy+32=1
/1666 ) 5 y+4Z’13
2x- -
3x +ay-52=°
( Tum over )
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(4)

UNIT—II

5. @ D : I
'~ Define limit of a function. .3
Uate any two of the following * 3,(256

§ L X =27
xX—-3 x_3

W 1 T2 -

x—0
X

() Lt 2-x-3x2
x—’oo4x.2
+3x+1

G.
ven the function

Sflx
= 4x2 -
= 3x+ 3x when 1<x<2
Is the fupey ¢ when x22
Ction continy ous at X _2 2 6

Differenﬁate_
Dctionsg .

(i) Y=(x2 +4)(2x3 -6)

i
x2 _5
(iii) y=3(3x+m+6)

1
+y /2 =a1/2

| ( Contiﬂ"gd

any three .
ee of the followngx 3,’6-~

(b)

(c)

A

(b)

8. (a)

D9/1666

(5)

Given the functioné = X~Y show that
x+Y -

u _ ou ,
U L y—=0 5
*ox yay

minima of 2
am. Also state the

appropriate diagr .
ary and sufficient conditions. 3+2=5

necess

The demand function of a monopolist

is given by q=400-—2p, and this
q

average cost function by AC=5t¢y

where P~

eyt 10
Derive the equilibr? tput

costCasa functi

The total .
given by

produced Qis
2 4+5Q +200 ‘

value of the
oW that at this

1
o)
¢ 10
ipimum

Find the .
average cost function: sh

demand AC= [ Tum Over )



(6)

(b) Calculate the

demand of th
ﬁlnction

price elasticity Of
e following demand

D =100-2P +0.004p2

when P =10,

() I MR is gog
demand with re
find AR.

9, (a)

(b) Find the

(any fou,) :mtegral of the following
U] (xz e 1 ‘
‘x? dx

i) [qx -x
,Ia (1+‘1\5)d’c

X
(i) ;ﬂoz?xwdx

(iv) J‘ 2x-1

*-1)(x=3)

(v) Ix2exdx

and the elasticity Of
spect to price is ¢ 3

UNIT—V
What is integr_aﬁon_?

3><4‘12

dx

( Continued )

10.

(@)

(b)

(c)

D9 620071666

(7)

What are the properties of definite
integral?

Evaluate
fll (2-3x)° dx

ctions of a certain
The supply fun e

market -is p=10+24q. e s
equilibrium price (Pg) for P e
is ¥ 20, calculate the producers surpius.
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